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The Op-Amg shown inthe following figure is ideal, B = 1/ ol The phase angle between Vg and ¥}, at
JLfC

_1
a1 = jﬁ.ﬁli

V.o MWl D -
]

=

The probability that at least one of the events A and B occurs is 0.8 and the probability that bath the
events accur simultanecusly is 0.25. Find the probability P{4) + P(B).

The majority carriers in an n-type semiconductor have an average drift velocity # in a direction

perpendicular to a uniform magnetic field B . The electric field E induced due to Hall effect acts in the
direction

=
along v

s
along B
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BExv

Evaluate the following

e* =2cosx + ™%
lim

=0 Xsinx

d
A capacitor (parallel plate} is being charged at a constant r:atea—f = b.IfA is the area of the plates and d
isthe separation

i
TefTL i

The Eigen vectors of the matrix

ang
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1 o/ (1=23) .1 dx dy dr
Evaluate[; [ Jll,.!,_,_ja"_ﬁ”#ur

(1.,-'§+ 1}11'X

4

[u'i—ljlrr/a
{\-"i + 1]#}/3

{1.-@ = l}rr
4

Solve the initial value problem cos x E +y =sinx,y(0) = 2.

(14x) comx

y=1+ Einx -1
l=mnx

. {14x)cory
¥ = 1-— m,mnx =1,

1-xleosx

F=1+ 1#sing

sinxy -1

(1
I}l: ]_+ MJsdnx =_1.
1+mmnr

{14x)cosx
e sinxy = —1.
14EinE
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y=x¥l

d ~
Sobve the differential equation == -,
dy  y-x#5

5 e
Find the area bounded by the ellipse ,.-’ﬂg +} ,."rbg = 1 using the double integration.
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w
w
w

d
Find f-"rdt att =0 flx,y.2)=x*+xz2+y* +xyz, x= ef,y=cost,z= t%.

if = x? 4+ +z%and F = x [ + y] + zk, then V. (fT) equals

Calculate _I]-#Iid.-i over a region R which is a triangle in the xy —plane bounded by the x —axis, the

line v = x and the linex = 1.
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transistor neglecting the leakage currentis

ec

The output m]}rtagz ¥y of the circuit shown below is

10 kL2
— MW
sl | =

_ &
+*
2V I_

BN

100 kQ

B

Find the basis of the subspace fu = {(a,b, ¢, d)}, suchthata +c +d = 0,b +d = 0, be a subspace
of R*
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IfF = (Sxy — 6x2)i + (2y — 4x)]. E"-’EIJI.IEIEJ..:E:. dr overacurve C: y = x3 in the xy —plane from the
point (1,1} to (2.8).

& conducting sphgre of radius R is placed on a uniform electric field E; directed along +z-axis. The
electric potential for outside points is given as

R]
Vour = ‘Eu(l = ﬁ)f cosd

Where r is the distance from the centre and @ is the polar angle. The charge density on the surface of
the sphere is

—3egEpcosf
ggEqcosd
3gyEpcos8
EgEgcos8 /3

3gyEycos8

Solve the differential aquation (D2 + 3D + 2)y = &7,

- g% —
Wx) = e +c;e6™ + el ). ¢ ¢ are constants.

}{ﬂ =0Le "+ E;E‘"E"'+ gle™ -2, €y, €7 are constants.

Fa i x T . L sl .
FLAF = 1Tq0 F] o =P .
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y(zx) = e +ce™ ™ + 2, ¢ ¢, are constants,

Aregulated power supply, shown in figure below, has an unregulated input (UR) of 15Volts and
generates a regulated output V, .. Use the component values shown in the figure,

15V (UR) e
102 $1Eu .
| v

BV Jg_:-m

L w

Events E and F are given to be independent. Find P(F) if itis given that P(E) = 0.4 and P(EU F) =
0.55.
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The Lagrangian for a system of three particles is

One of the Eigen frequencies is given by

w? = 2a?
w? = 5af
w® =g?/2

%
w? =+2a

w® = 5a®

www.FirstRanker.com

1.2, .2, .12
L= E('?: + q; 43 }_ a*(gy® +q2* +93° — q193)
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drab
4m? Ej

4mi(b/a)

2mtab

2m*ab
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AB+ 4B
AB + AR
(A+B)A+B)
(A+B)A+B)

—a)
f"'[t‘j i3 {f{.ﬂj _.r{bj:"/{b :I
=g

p@=TO-MRE_

ro="9%_.

pio= C® @)

Fle)= ﬂzﬂ}/{b —a)

M
T
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